Word Problems (Division)
Solve the following word problems.

1. There are 19 identical socks. How many pairs of socks are there? Will
there be any socks without a match? If so, how many?

2. If it takes 8 inches of ribbon to make a bow, how many bows can be made from 3
feet of ribbon (1 foot = 12 inches)? Will any ribbon be left over? If so, how much?

3. The library has 27 chairs and 5 tables. If the same number of chairs is placed
at each table, how many chairs can be placed at each table? Will there be any
extra chairs? If so, how many?
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2. If it takes 8 inches of ribbon to make a bow, how many bows can be made from 3
feet of ribbon (1 foot = 12 inches)? Will any ribbon be left over? If so, how much?
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3. The library has 27 chairs and 5 tables. If the same number of chairs is placed
at each table, how many chairs can be placed at each table? Will there be any
extra chairs? If so, how many?

TThe. quotient s Band Yhe remaindr
27+5 e L.

5 Choxes €ON ke glaced ol eadntable .
Thece W be 2 echta ChaxeS,

i

Go to onlinemathlearning.com for more free math resources




